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" Time Allowed: 20 minules ' - ' Marks: 18
Q- Write the correct option i.e. A B, Cor D.inthe empty box provided opposne to each part. _
. The impulse has (he same unitas .. : A, Force B. Energy C. Momenlum  D. None of these
Ik Frequency of a second's pendulumis ....... . A 2Hz ' B. 1Hz C. 0.2Hz D. None of these [_—D:]
lii.  Expression for crilical velocily of @ satelite is glven A y=J2gR. B v=JgR C. gR D. None of these
by....... A JoR v="s 'B
iv.  Ifthe tension in the string is doubled and its mass ~ A. Onefourth ~ B, Constant C. Halved D. Doubled
per unit [sngth is reduced to haif. Then the speed of D
© transverse wave on itis ....... . ‘
v.  Which one is a pair of S! base units? A. MeterNewton B, Kilogram Kelvin €. Coulomb D. Ampers Joute B
: - o Second
vi.  Wilh the increases of temperalure viscosity ....... A, Decreases B. Increases C. Bocomes D. Remains A
: ' _ , doubla constant
vil,  Which of the given properfies proves the transverse A Polarization - | B. Diffraction C. Intesference:  D. Refleclion ﬂ
wave nature of light? . :
vili.  Triple point of waleris ... ... A. 27316 °C B. 372.16K C. 27316 °F D. None of these @
ix. Tha slope of displacement - time graph is called.... A. Distance B. Velocity C. Acceleration  D. None of these | @
X In anisolated syslem the tolal energy of vibraling A, Conslant B. High . G. Low D. Variable H
mass and spring is........ v
%i. - If the lemperature of the heat source Is increased,- A. Increases B. Decreases C. Remains D. Firstincreases
the efficiency of a Camot's engine........ constant and then H
: becemes
constant
xii.  Efficiency of fluorescent lampis ...... A 20% B. 30% C. 40% D. 100 % @
xill. Tha sum of magnitudes of two forces is 16.ifthe  A. 2Nand 14N B, 4Nand 12N " C.8Nand8N. D. None of these

resultant force is 8 N and its direction is . D
perpandicular to minimum forca then tha forces are :

A, Work s said to be negalivo when F and d are.... A Perpendicutar

=

Paraliel C. Anli parailel D. None of these

o

. Derived ~ ~  C. Nonphysical  D. Geomtrical
quanlities quantilics quanlilies

xvi. Theincreases in the speed of sound for each A, 61 ms-1 B. 61ms-!" C, 0.61 ms-! D. None of these
degree rise above 0°Cis ...... ' o

XV, The,p!an'e angle and solid angle ara purely...... . A. Basequantilies

xvii. Linear acceleralon a= 1o, when®0"is ... A gpe B. 360° C. 1a0° D. g

C

O

D
| - [A]
. 30° B. 45° C. 60° D. g9° lré_
e

>

xviii Whal is the angle between A and B for which
\K . él = |A X él
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Time allowed for Section - B and Section - C is 2 Hours and 40 mlnutes

Saction ~ B - ' Marks:; 40

Attempt any TEN parts. Each part carrlas FOUR marks. .

1.
g

Differentiate between the light year and year
Carry-out the following conversion,

-~ Calculate a speed of 20 ms=1in Kmh-1, ‘
Define vector. How a vector s represented?' Explain,
Explain velocity time graph. Show that area under velocity time graph is distance.
What is projectile? Derive mathematical expressions for ﬂight time and range of
a simplest projectile., |
Write a short note on inter conversion of Potential Energy and Kinetic Energy. -
Differentiale between Real and Apparent Weights.
What is the moment of inértia of a 100 Kg sphére whose radius is 50 cm?

| Briefly Explain.any two applicafions of Bernoulii's equation,
Write a short nole on the factors that affect the speed of sound in a gas.
Differentiate between progressive and stationary waves?

12. Explain polarization of fight by reflection.

13. “Aninventor claims to have developed a heat enging,-working between 27° G and 227°C

having an efficiency of 45 %. Is the claim valid? Why? : ' , /

Section-C Marks; 27

Note : Attempt any THREE questions. All questions carry equal marks,

- Deline absolule patential ehergy. Prove thalAbsoiufe PE=

Explain three Newlon's Laws of motion.

An object is lraveling with a constant accelerahon of 10 ms -2, How much dlstance will it travel in
31 second of its journey. :

GmM.

A man whose mass is 70 kg walks up lo the third floor of a building which is 12 m above the ground
In 20 S. Fmd his power in-watts and in horse power,

- Define S.H.M. Show thal motion of a mass attached with a spring executes S.H.M.

Qi (a)
)
Qv (a)
)
Qv (a)
o)
Qv (a)
)

Calculate the length of a second pendulum having lime period 2 S at a place where g = 9.8 ms =2,

Define the molar heat capacities C, and Cy for a gas. Show lhat for a mole of an ideal gas Cp~ Cv =R,

Calculate the change in entropy when 10 kg of waler is heated from 90° C to 100¢ C
(Specific heat of water is 4180 JKg - K1



